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12 wOUT FEIN 12 wOUT FEIN
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Nz shi&Es #OUT| FHIN | GROSS| HDCP| NET Nz shi&s #ouT| FHIN | GROSS| HDCP| NET
1 %% =B 4542 | 87 15.6/71.4 |61 BR =xif 53 50 103/25.2 77.8
2 AfRE 4FE 4548 93 21.6/71.4 |62 B®HHAH E— 55 54 109|31.2 77.8
3 5Lk EX 51 52 103 31.2 71.8 |63 AL fH— 51 51 102|24.0 78.0
4 oH A— 44| 44| 88 15.6 72.4| |64 |#AAK FIA 57 57 114|36.0 78.0
5 kH Bk 49| 51100 27.6 72.4| |65 fEH EBA 56 58 114/36.0 78.0
6 E&B% 7R 49|55 104 31.2/72.8 |66 €M /LA 47 48 95 16.8 78.2
7 M ANF% 47 48| 95 21.6 73.4| |67 =H &k 54 47 101|22.8 78.2
8 # & 46 | 42| 88 14.4/73.6 |68 M =it 51 49 100|21.6 78.4
9 =ftih A 44 50| 94 20.4 73.6| |69 EiE EE 53 52 105|26.4 78.6
10 #AH 5 50 50| 100|26.4| 73.6| |70 flf" &34 55 56 111|32.4 78.6
11 HE &% 52 48 100|26.4/73.6 |71 @)l BA 53 58 111|32.4 78.6
12 RE B8 49|51 100 26.4/73.6| |72 KB FIE 53 51 104|25.2 78.8
13 /NEFF fRRER | 47 46 93 19.2 73.8 |73 LB BER 51 52 103|24.0 79.0
14 LU0 & 46| 52 98 24.074.0 |74 #BK X 59 50 109|30.0 79.0
15 E@ & 51 53 104 30.0/74.0 |75 f&k = 57 58 115/36.0/ 79.0
16 K& % 54 50 104 30.0 74.0 |76 /I\#k FOIE 46| 50| 96 |16.8 79.2
17 pidk =— 47 144 91 16.8 74.2 |77 [E #= 49|52 101 21.6 79.4
18 &L &7 51 52103 28.8 74.2 |78 &0 BF 55 58 113|33.6 79.4
19 IR HiE 50 52102 /27.6/74.4| |79 [E%E = 48|57 105 25.2/79.8
20 &1 B 4142 83 8.4 74.6 |80 t#Hk =S 56 48 104|24.0 80.0
21 fiH &4 52 49 101/26.4 74.6 |81 fAK & 48 49| 97 16.8 80.2
22 fREP Eth 49 45 94 19.2/74.8 |82 BE 3B 47|55 102 21.6 80.4
23 B FEX 49 | 57106 31.2/74.8 |83 Y@ *¥ 53 55 108|27.6 80.4
24 IR =F 53 53106 31.2/ 74.8 |84 |ILA & 49 46 95 14.4 80.6
25 Ak IERE 44 49| 93 18.0/75.0 |85 Al& 3k 4958|107 26.4 80.6
26 HAR Fx 46| 47| 93 18.0 75.0) |86 |f@H M=z 56 57 113|32.4 80.6
27 BE B 51 48 99 24.0 75.0 |87 Bl =i& 58 54 112|31.2 80.8
28 J\AH 31T 55 50 105|30.0/ 75.0 |88 HlE Fi& 55 57 112|31.2 80.8
29 /R X 50 55 105/30.0 75.0 |89 =& B 53 52 105|24.0 81.0
30 §1 BEF| 42 44| 86 10.8/75.2| |90 HE t&k 59 58 117/36.0 81.0
31 B0 BEA 4343 86 10.8/75.2| |91 &R 35hE 6255|117 36.0 81.0
32 e & 54 56 110 34.8 75.2 |92 [E&f #HiLF 58 52 110/28.8 81.2
33 FR ®iT 48 49 97 21.6/75.4 |93 HiE {&— 54 43 97 |15.6 81.4
34 by S 51 51 102 26.4 75.6 |94 KX BEfETF 60| 55115 33.6 81.4
35 KIE TRk 50 52|102/26.4/75.6| |95 ik #HE— 59 55 114|32.4 81.6
36 AlF HE 51 51 102|26.4/75.6 |96 HE = 64| 48112 30.0 82.0
37 JAlE X 43|52 95 19.2/75.8| |97 HEZ f&Ek 59 53 112/30.0 82.0
38 BE HP 50 48| 98 |21.6/76.4| |98 EHE B 56 62 118/36.0 82.0
39 A 1B 51 47| 98 |21.6/76.4| |99 &0 ZEEP 57 61 118|36.0 82.0
40 (SR S 56 54 110 33.6/ 76.4 |100 FREH FFNX 54 64 118/36.0 82.0
41 WIFE ERF 51 46| 97 20.4/76.6| |101 BEfF #th 56 62 118|36.0 82.0
42 5K PEX 4750| 97 20.4 76.6| |102|fa[ZB &AL 46| 50| 96 |13.2/ 82.8
43 A =& 55 54 109|32.4 76.6 |103 SH (& 52 49 101|18.0 83.0
44 A F— 47 149 96 19.2/76.8 |104 [NjiE = 56 57 113/30.0 83.0
45 FKH FE 47 49| 96 19.2 76.8| |105 HF: EF 57 60 117/33.6 83.4
46 7R BSR 51 57 108/ 31.2 76.8 |106 BE Ak 61|56 117 33.6 83.4
47 B —1{Z 58 43 101/24.0/77.0 |107 24K 2 51 56 107|22.8 84.2
48 UK B 50 51 101/24.0 77.0/ |108 [ ==AI 56 64 120/33.6 86.4
49 R RE 53 48 101(24.0 77.0 |109 &JI| & 6261|123 36.0 87.0
50 FEft & 55 52107 30.0 77.0 |110 [ ZFH— 60| 58 118 /30.0 88.0
51 A ahER 51 55/ 106|28.8/77.2 |111 FAA IF{T 57 59 116|27.6 88.4
52 NIl &= 45|48 93 |15.6/77.4 (112 BEi5 BE 57 59 116|27.6 88.4
53 thit =ia 49 50| 99 21.6 77.4| |1133FH K 59 62 121/32.4 88.6
54 #HE F— 49 | 56105 27.6/ 77.4 |114 HE IFth 56 70 126/36.0/90.0
55 Bl BiE 52 59 111 33.6 77.4 |115%H fili— 61| 67128 36.0 92.0
56 B tHX 55 56 111/33.6 77.4 |116 ZFH 1FAA 64| 66| 130 36.0 94.0
57 /KBE & 55 56 111 33.6/ 77.4 |117 UK 1F3 68| 62 | 130 36.0 94.0
58 1= 50 48 98 20.4 77.6 |118 FIEE HH 66 | 65| 131 36.0 95.0
59 AR FHE 61|49 110 32.4/77.6| |119 12 FRE 82|77 159 36.0 123.0

60 /K& BASA 48| 49| 97 19.2 77.8) |NR|FH %%
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